EARAROBEEIERT — 2 N— IBISH —F

20155128270 (H) 5EHLI8H

"10R S

G1 ¥Y7%3mtLt (ER) (Uer) T= ‘(ﬂ;} E ‘[5&%&#&1] — | Z %) 25000 B
[A#£] 1 7 250,000,000  ~ 2 7 :100,000,000 @ ~ 3 # :63,000,000 § ~ 4 7 :38,000,000 § .~ 5 3 : 25,000,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
; S o4 | SHEA 2:33.0 3-3-5-3 |34.8|114.0| 8 494 | FPIINARE ()
1 N 7 J—IWRKT7 72— 57.0 (=) (+4) BHE
RiZoY—rb—O— BiAqO YL BT 7 — L
S, P . M. F4—0O . —3-5— BERfE— (R
215l9 YL IATT—X 4 4 57_07 2(73?:5) 3-3-5-6 |34.7|114.1| 5 ?8)2 =§.EE,E§§£( )
R:xAIZTF—R B:Tr—ZbNAFYL HET7— L
LTS5 43 | HILAsA 2:33.1 1-1-1-1 | 85.1 | 111.1| 4 506 | EKAR (BH)
K} 6 KR #?‘&/77 v 7 55.0 (3/4) (-4) ﬁ(’ﬁ) KEHE
R:TT9IEAF BivaH-—n—h Y74
= B4 | BBERE 2:33.1 3-3-2-2 [ 35.0 | 112.7| 12 | 434 |AREEL (Eid)
4\8)16/ YYT T h 55.0 (74%) ) | A ifﬂv K77 —L
R:FA—TAN b B:vUITL—X J—H Ty — L
= — s o5 | JIIEREH 2:33.2 6-6-8-6 |34.7|111.9| 2 488 | MIIFE (ER)
EE 4|77V —74 57.0 1/2) (+2) SFANK-AF (TR ()
x> ThHANAN BRyTa-2T4 X J=HrTr—L
. 7 o7 | H O Kovw> 2:33.3 14-14-15-13| 34.4 | 110.9 | 14 | 480 |MIZEH (ER)
65|10 P—t>L—7 57.0 56 o) | BlIEE
R:F4—TALINT b BETINAY J—=HrTyp—L
S = 44 | EHEES 2:33.3 6-6-7-10 | 34.9 | 110.9 | 11 484 | 1EEME (ER)
ZH 5| 7ReA¥TOR 57.0 NP (a) | EEFI—
LT RIAY KL RO Y- K P e
i S, 0y 4 6 | AEEE 2:33. 16-16-2-3 | 35.2 | 108.1 | 1 508 | BEET (ER)
818|15 d—=Ibk>y 7 57.0 (7€) (-2) BRSHAMR—F -T2 T2
RRFAT—IE BRI RTTY T HO%S
N TN R :33. -11-12- . . EOEAKRER (EX)
9 gl 7T RAL Y= o4 & 2(313)5 11-11-12-13| 34.8 | 108.8 | 10 zzg? BoLk
LNnN=v774 B:Jdr—Fa #Et /—Rex
PR 4t 3 | FlREX 2:33.5 10-10-8-5 | 35.0 | 108.8 | 6 458 | ATTETE (i)
100713 v—Y N7 53.0 (5¢) Ge) | 8 Frayrar-n
L:woNnNygh7x BT v—INUF =Y Ty—L
N 4 4 | AL otz 2:33.6 15-15-12-10| 34.9 [ 107.7 | 7 466 BT (%)
1 A RZAS 57.0 (7E) o) |ME#
L:7Rvq14¥ K> B:74070-L J=HrTp—L
= SV 4 5 | EHEBZ 2:33. 8-9-10-9 |35.0(107.7| 9 496 | MREEE (FF)
12 3 AR 2INT b 57.0 (7€) +2) éﬁﬁ%ﬁ’/)l«7
T4 =TA2NT7 b B ZANRYFIIS=)b () #8a—-FL—>a>@qET7
. S PN #o7 | AKX 2:33.7 8-8-10-13 | 35.1 | 106.7 | 13 | 516 |MEEH— (=)
13/1|2| Ev P¥E—=Fy b 57.0 (172) (o) | FIEE=
AFLTHANAN BS54 —Ib J =X T AL N
e < 4 5 | AEHRIR 2:33.9 12-12-12-10{ 35.2 | 104.1 | 16 | 462 |/MNEA (Eid)
14{7 |14 F—E=-71 X 57.0 (1 1/4) e | (8 HAL—2F-2
R:Tv TRy N BNy 22T 14X BT 7 —L4
LT L — 47 | ANHBREA 2:35.4 12-12-16-16| 36.4 | 87.0 | 15 | 446 |MWIZFEH (RR)
1511 | F—>v>T I 57.0 © (+p) | EZEE (H)
R:RFA4d—-K B:TT7T— HETr—L
4 3 | C. bx—J 2:35.5 2-2-2-6 |37.4|87.5| 3 506 | EEKE (RR)
Eﬂm DT .0 (7€) © h) 0y hTr—h
R:trs/n7oA4 B:oUvITL—X J =¥ Ty — I
@ 71 L
) 46.9-35.0
NA>ZA L | 7.0-11.7-12.2-12.5-12.7-12.8-12.6-12.6-12.0-11.9-11.5-11.3-12.2
® I —F—@EBIERL
13=3r= (¥11,12)-(7,9,16)-(4,5) (2,3)13,8(1,14)10,6,15
2= = (x11,12) (7,9,16) (4,5)2,3,13,8(1,14)10,6,15
Gol=5r= 11(12,16,15) (7,9)5(4,13) (2,3) (8,14,6)10,1
40—+ — (x11,16) (7,15)13(4,12,9)3(5,14,6) (2,8,10)-1
[ N3
B O 7 1,700 714K 7-9 1,760H e E 4-5 5,010M JEHE 7-9-11 20,360
8 B 7 410M 7-11 2,300 B = 7-9 6,840M B 7-9-11 125,870M
9 290 9-11 1,720 B H 7-9 13,780
1 340H

ABICOVWTRDTEEERROODE. TR LIV,




